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When they were standing within it — 2k TR

OVERVIEW
The RX713 reconciled the two NN°72; the X112 which states D°72Y 7P YpPR2A PO 1S
discussing a case where the 0°72v were within the Y79 (and the 2’72y are mip:
through ¥pp17 1°12). Moo presents a difficulty based on the inference of the s'&723
reconciliation.
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And that which the other Xn»"2 states that if he made a ¥p2p2a 1711 he is not 731

the 072y, that is in a case where the 0°72¥ are not standing within the vpp (for if
they were within the ¥p7p they would be .‘lJPJ).2
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But nevertheless that Xn»12 states that (in the same case where it was not 712102) if
he made a 7p11 in the ¥pp he is 739 the Phudvn, because we do not require by

stationary 7>ubun that it should be piled up in the yp7p. 23x Pip is effective even if the
1ououn are elsewhere.

Mmoo mentions a slight difficulty:
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And later when we ask; ‘but it is established that 237122 is not required’, it was
not necessary to refer to the 5"™p that 2>Max is not required, for we could have
inferred this from the text of this xn»2.*

SUMMARY
We can derive from the Xn>12 of 0°72v 7Ip K2 ypapa p i that by o°20%un we do
not require 0°712X.

THINKING IT OVER

What explanation can we offer why the X123 chose to cite the '2"»p X1, as opposed
to using the inference from the &n12?° [What advantage would there be if we did
use the inference from the Xn»12 as opposed to the 9">»p xm?]

! The x7m3 states this. Mmoo is perhaps mentioning it as an introduction to what follows, which is a prelude to his
question why the need for the '">p &'

% See following 7% 17"7 mooIn, with which 1Ip is he 7P the 0°72y.

32"y w.

* The xn™ 1 is discussing a case where 72107 P72 X (that is why 2272V 73p X2 ¥ppa pornn) and nevertheless 1
19057 MIp Yppa, therefore it is evident that by 17123 w2 XS PouvbwA.

> See n'"m.
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